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Chapter : Time and Distance

(1) Aman and Kapil starts from Delhi and Gwalior
respectively towards each other at same time. They
meet at Mathura and then take 196 minutes and 225
minutes respectively to reach Gwalior and Delhi. If
speed of Aman is 30 km/hr, then what is the speed (in
km/hr) of Kapil?
3 TUT I ShaAT: el TUT TR & Teh GAR Y
T Th €1 THY bl 8| 3 7Y H [fera § T Fow
o §TG I I FAT fereell aga= 7 aer: 196 ete
T 225 fAdE o €1 IfE 3reT 1 a1far 30 R . i ger
&, Y irer v arfey (Fos = reier &) 77w gefre
SSCCGLO8AUG-S3 : 59
(a) 28 (b) 30 (c) 225/7

(d) 392/15

(2) A train travels 20% faster than a car. Both start
from point A at the same time and reach point B, 180
km away at the same time. On the way the train takes
30 minutes for stopping at the stations. What is the
speed (in km/hr) of the train?
Teh YITTSY Teh R H 20% AT Telcll &l et g A & T
& FHY TR YRS e & 12T 180 foh 4T, oy Ry feig B
T T & THY I TG ¢ | FT H YeTIMST TAA R
ot o forT 30 fATe orclt & | Yeremar 1 arfa (fon T ufar
T H) FAT §?
SSCCGL10AUG-S1: 59
(a) 56 (b) 66 (© 72

(d) 80

(3) A man starts running from point P at 11:00 a.m.
with a speed of 10 km/hr. He runs for 2 hours and
then takes a 1 hour rest. He continues this till he is
caught by another man who starts at 2:00 p.m. from
point P and runs non-stop at a speed of 15 km/hr
towards the first man. At what time (in p.m.) will the
first man be caught?

T g febet 10 o T, 9y eier & a1y @ 11 gaitet (T.
TH.) W foig P A Sl & HIAT 8| dg 2 e alsarg 3R
T 1 T 3TRTH FIAT § | 98 AT I deh T § ofd deh

I8 Ueh AR AT GaRT UehsT o181 STidl &, ST 2 3T9_Ted
(. TH.) IR g P & elsaT & Xl & o7Um ag 15 foh. .
gt geT T 31f A Igor gfard hr R fo=Tr & glsar g
TgelT Al fohdet Sot (3TTRTET #) ThaT SIRem?
SSCCGLOBAUG-S2 : 59

(a) 6:20 (b) 4:40 (c) 6:00
(d) 5:30

(4) After excluding stoppages, the speed of a bus is 60
kmph and after including stoppages, it is 45 kmph. For
how many minutes does the bus stop per hour?

AR T BISHT, T & 31fat 60 fom AL Ifa g¢ 3R
31aRTer Afed, Ig a1far 45 foh T gfa e &1 Fg sw ufa
et fhde fAsTe hdY 82
SSCCGL21AUG-S3 : 59
(a) 10 (b) 9 () 12

(d) 15

(5) If a boat goes a certain distance at 30 km/h and
comes back the same distance at 20 km/hr, what is
the average speed (in km/hr) for the total journey?

3R Teh A7a 30 Fhal/ere &1 a1l @ Ueh A Rwrd gt ek
SiTelr & 31 38 gyt 20 fernei/ere &y arfy & Ao g
Y &, A ool AT & Torw sivare arfer (e #Averer &)
g7
SSCCGL22AUG-S2 : 59
(a) 25 (b) 24.5 (0) 24

(d) 25.5

(6) A train of length 100 m crosses another train of
length 150 m, running on a parallel track in the
opposite direction in 9 seconds. If the speed of train
having length 150 m is 40 km/hr, then what is the
speed (in km/hr) of the other train?

T 100 FH1eX o<l YeaTEr gEiy 150 FHie wa oemsy
S IR AR Jedy I Fuia fRer F aa @, 19
[hs A IR FXAT &1 T 150 #Hrex oot Yeramar &y arfa
40 Top 7T /e1eT &, oY gET Terammsy hr arfey (feh 7T /eier #)
FATE?
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SSCCGLO5AUG-S3 : 59
(a) 30 (b) 48 (c) 50
(d) 60

(7) If  walk at 7/6 of my usual speed, then | reach my
office 15 minutes early. What is the usual time taken
(in minutes) by me to reach the office?
I & 390 FATT 11 A 7/6 Y 1T @ TeaAr g, A
379 G 15 AT STedy Tgaar g | # gurer Tg o= A
ATHATTT: Tt T (FAer #) FFIT{?
SSCCGL10AUG-S2 : 59
(a) 60 (b) 75 (c) 90

(d) 105

(8) To travel 432 km, an Express train takes 1 hour
more than Duronto. If however, the speed of the
Express train is increased by 50%, it takes 2 hours less
than Duronto. What is the speed (in km/hr) of
Duronto train?

432 fareiaIex 1 AT el & T Teh Torasd ot gl
W 1 g7 TS TAT oIl ¢ | T ToFadg o7 & Tt 50%
T &1 STl &, A &l gial ¥ 2 € A FHT ol 8| gl
o & a1t (Fhairee/aer ) forder g2
SSCCGL17AUG-S1 : 59

(a) 60 (b) 54 () 48
(d) 72

(9) A train leaves Delhi at 10 a.m. and reaches Jaipur
at 4 p.m. on same day. Another train leaves Jaipur at
12 p.m. and reaches Delhi at 5 p.m. on same day.
What is the time of day (approximately) when the two
trains will meet?

Teh YoraMTST feeell & 10 aTesT (T. TH.) W Tolchl § T
34 ot 4 3roRTE (. TH.) TSR TEAN ¥l g@
TS SR A 12 3TRTET (. TH.) TR Tl g odm 38
feret 5 3roTeT (4. UA) R feeel agae &1 fot # o
HHY (AT T ST Yeramisal fAereh 82
SSCCGLO9AUG-S1 : 59
(a) 1:42 p.m. (b) 1:27 p.m.
(d) 1:49 p.m.

(c) 2:04 p.m.

(10) Two people A and B are at a distance of 260 km
from each other at 9:00 a.m. A immediately starts
moving towards B at a speed of 25 km/h and at 11:00
a.m. B starts moving towards A at a speed of 10
km/hr. At what time (in p.m.) will they meet each
other?

al egferd, A T B 9:00 Jdes (V. TH.) W U ga@l 4
260 for. 7. T gl aX &1 A el 25 op 2. vy e &t atfey

A B I 3R TToTeAT 3L T § TT B 11:00 gaes (V.
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TH.) W 10 fm. 7. ufa ger & 71fa & A Fr 3R TFofer
3TR3Y YT & | I8 Teh gar A fohe THY (3ToRTeT (.
w#.) H) fAer
SSCCGLO9AUG-S2 : 59
(a) 5:00 (b) 6:00 (c) 6:30

(d) 7:00

(11) A bus travels 2/5 of a total journey at its usual
speed. The remaining distance was covered by bus at
6/7 of its usual speed. Due to slow speed it reaches its
destination 50 minutes late. If the total distance is 200
kms, then what is the usual speed (in km/hr) of bus?
Teh S8 YA ATAT &7 2/5 32T AT 1 § T gl

ol &5 o1 S8 WA W 6/7 B I @ 77 HIA §| LA
31T & FHIRUT 98 379 g TATHT W50 Bge Hredra
qg el &1 Afe Fer gl 200 .. &, o @ By ArAT
arfar (.7 . /ereT 7) = grefre

SSCCGL11AUG-S1: 59

(a) 20.57 (b) 24 (c) 28
(d) 26.52

(12) A starts from a point at a speed of 30
metre/second. After 3 seconds, B starts chasing A
from the same point with a speed of 50 metre/second.
What will be the total distance (in metres) travelled by
A and B before A is caught by B?

A T Tdieg & 30 HICT/Hehs T 71Tl & T AT 81 3
Yehs e, 34T g A B, 50 H1eX/Aehs T 711 & A &1
IIT AT 3R AT & | B GaRT A FT I3 STl & Tgol
A TUT B Tl fohcialt g0 (#F1eX #) o7 s
SSCCGL12AUG-S1: 59

(a) 360 (b) 450 (c) 600
(d) 720

(13) After repairing a scooter runs at a speed of 54
km/h and before repairing runs at speed of 48 km/h.
It covers a certain distance in 6 hours after repairing.
How much time will it take to cover the same distance
before repairing?

Teh Fhed FAFA I o a6 54 fom 7. ufey eer &y arfey
T IoIdT § TAT HAFAT 01 & el 48 fom.HY. ufay geradhr
Tfd @ TolaT ¥ | FFAT 0 & 91 a8 Toh Afaa gt
T 6 U H T AT §| AFAT F § gl Ig GATH
& T T et H Tohelall THT AIM?
SSCCGL12AUG-S2 : 59

(a) 6 hours 15 minutes / 6 &¢ 15 fAe

(b) 6 hours 45 minutes / 6 ¢ 45 fAsIe
(c) 7 hours / 7 &i¢
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(d) 7 hours 30 minutes / 7 €¢ 30 fR=e

(14) A bus starts running with the initial speed of 21
km/hr and its speed increases every hour by 3 km/hr.
How many hours will it take to cover a distance of 252
km?
weh 59 21 foh. A ufa ger i yr e afa & e 3R
AT & TUT 38T a1t 7 gde v A 3 oo wfq ger
&1 e gl & | 252 o #l. gt ag e & fav ag
ThcTet T T T oIi?
SSCCGL10AUG-S3 : 59
(c) 8
(d) 10

(15) Diameter of wheel of a cycle is 21 cm. The cyclist
takes 45 minutes to reach a destination at a speed of
16.5 km/hr. How many revolutions will the wheel
make during the journey?

Teh ATSTehol o Uigd 1 oy 21 Q.. 8| Arsfehel dTeleh
16.5 fop. . 9Ty €feT Y 1 & T I T TUTeT b Tg e
& fAIT 45 fAeTe Aar &1 IT=7 & SR IiRaT et T
SAIMTIT?

SSCCGL12AUG-S3 : 59

(a) 12325 (b) 18750
(d) 24350

(16) 37 trees are planted in a straight line such that
distance between any two consecutive trees is same.
A car takes 20 seconds to reach the 13th tree. How
much more time (in seconds) will it take to reach the
last tree?
37 geil &l Ueh Ueh ALl el & 38 Wb ofanmm arm § o
farelt 8t &Y ShaATeTeT Ut o o & g WA B Ueh R 13
d a7 O qga H 20 §hUS el &1 HAH a7 e T T
# ag fordelr TFY (Thvs #) 3R oefr?
SSCCGL11AUG-S2 : 59
(a) 36 (b) 40 (c) 57

(d) 60

(17) A spaceship travels at 810 km/hr. How many
metres does it travel in 1/5th of a second?

T 37aReT AT 810 frelide/ae I TFAR & AT AT
g1 Ig 1/5-3 Hhors F fhcer #Hiex 6 Imm Hem?
SSCCGL17AUG-S2 : 59
(a) 60 (b) 45 (©) 75

(d) 90

(18) Two trains are moving in the opposite directions
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at speed of 43 km/h and 51 km/h respectively. The
time taken by the slower train to cross a man sitting in
the faster train is 9 seconds. What is the length (in
metres) of the slower train?

ar Yormf3ar saen: 43 5., ufa ger qur 51 R ufa
TeT I a1fa & faudia feem & ger Wr § | el arfey arelr
TS, Y AT AT ATl JIMST H §S SATFT T IR el
# 9 Ths oFTd & | U 1T aTelT YIS Y loars (FHex
) el 87
SSCCGLO9AUG-S3 : 59
(a) 235 (b) 3384 (c) 470

(d) 940

(19) A man makes four trips of equal distances. His
speed on first trip was 60 km/hr and in each
subsequent trip his speed was half of the previous
trip. What is the average speed (in km/hr) of the man
in these four trips?
T T HHATT G T TR ATATT AT § | Tgell AT H
3T 3Tt 60 TohaT./EreT 2T AT 3797l &< JTAT H 3Th!
It el I & a1t & 3l &Y | 3o IR I3t 7 39
gt & 3rade a1far (e, /aer #) fohdeir &7
SSCCGL16AUG-S3 : 59
(@) 16 (b) 30
(d) 27.5

(c) 28.125

(20) To cover a distance of 144 km in 3.2 hours what
should be the average speed of the car in
meters/second?

144 TholHIeT 1 g &1 3.2 6 H a7 el & [T

FHregdFos & SR Fr 3itaa aifa war g anfige?
SSCCGL17AUG-S3 : 59
(a) 125 (b) 10 (€75

(d) 15

(21) A taxi going at 90 km/hr takes 35 minutes to
travel a certain distance. By how much should it
increase its speed (in km/hr) to travel the same
distance in 21 minutes?

Teh T 90 Forat. /et Y TraR & foreif=r gl <hr amm
35 TeTe & Q¥ &Yl &1 38 g0 &1 21 [fee & g et &
fore araetr arfey (Rreltefex/eer #) frash gefer enfew?
SSCCGL18AUG-S2 : 59
(a) 60 (b) 150 (©) 120

(d) 90

(22) A man travelled a distance of 99 km in 9 hours.
He travelled partly on foot @ 9 km/hr and partly on
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bicycle @ 18 km/hr. What is distance (in kms)
travelled on foot?

Teh qIHI o 9 B¢ H 99 ToheT. g 7 7| T8 31 &
& 9 foraT./ger T a1fa & et e 3R 3w T & 18
fapatt. ferer hr arfey wmeferer & arar Y| Aeet q v 1S g
(ToraT. #) TohcTeiT 87
SSCCGL18AUG-S3 : 59
(a) 36 (b) 54 (c) 63

(d) 45

(23) Excluding stoppages, the speed of a bus is 72
kmph and including stoppages, it is 60 kmph. For how
many minutes does the bus stop per hour?
Tohat o FUTAT ol BISHT, T I 37T 72 et ufa
geT § 3R Fhel F gaTAr Tfed, T8 60 fhaliaiex wfaeer
¥ 98 I e # fhder e & fav sadr &7
SSCCGL18AUG-S1:59
(a) 12 (b) 8 (© 15

(d) 10

(24) If a person walks at 15 km/hr instead of 9 km/hr,
he would have walked 3 km more in the same time.
What is the actual distance (in kms) travelled by him?

IfE S quepta 9 freleiieT / Ter & Tofdr &, at ag 34
AT H 3 faralerey A8® ol glaT| 38 GaRT 2 X

S ATt gl (fhelteiex ) /T gham?

SSCCGL19AUG-S1 : 59

(@) 5.5 (b) 6.5 (c) 45
(d) 7.5

(25) A runner starts running from a point at 6:00 am
with a speed of 8 km/hr. Another racer starts from the
same point at 8:30 am in the same direction with a
speed of 10 km/hr. At what time of the day (in p.m.)
will the second racer will overtake the other runner?

Teh YTaeh Teh fdeTg & 6: 00 et (T.0#) W) 8 fohell. gfey
&eT T A1 A Elgell TR el 8| GERT erareh 33 forefg
A 8:30 qaes (T.UH) 9T FAT fe2r 3 10 fre. wfey grer
&1 a1f A Glsar IeT Far g1 6 & ford aag 3rRE
H g UTdeh Ugel YTk U 3T fehel SIAIM?
SSCCGL16AUG-S1: 59
(a) 8:00 (b) 4:00 (c) 6:30

(d) 5:30

(26) Two trains are moving in the opposite direction at
speed of 30 km/hr and 45 km/hr respectively, whose
lengths are 450 m and 550 m respectively. What is the
time taken (in seconds) by slower train to cross the
faster train?
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&Y Yeremfear sever: 30 freT. wfarerer T 45 fama.
gfaeer I 1fa F fudia feem 7 e W § [ e
AL 450 FHreT ToUT 550 FHreX &1 ifF a1fa arely YoremeT
T I AT YSAIMST Y IR A H fhdl=TT THT (Ths
#) wafr?

SSCCGL16AUG-S2 : 59

(a) 48 (b) 54 (c) 62
(d) 72

(27) Two cyclists P and Q cycle at 20 km/hr and 16
km/hr towards each other respectively. What was the
distance (in kms) between them when they started if
they met after 40 minutes?

ar arsforer aere P 3R Q saer: 20 fhaieiex/aer 3R 16
fareltHTey/eer T TFaR ¥ Teh g A e T @ | afe
40 fATe o1e; Ueh @Y & el df IeT & 3o7eh o T gt
(Treit#TeT #) ST Ar?

SSCCGL19AUG-S2 : 59

(a) 36 (b) 30 (©) 25
(d) 24

(28) If a boat goes a certain distance at 30 km/hr and
comes back the same distance at 60 km/hr. What is
the average speed (in km/hr) for the total journey?
3R Teh =A7a 30 TohaT./ereT Y 1fet & veh fAerfee gt
STl & 31K 60 faretY./erer hr arfey & 3¢ gt ox @ 31l
& HOT AT & forw 3ite arfay (et rerer 31) Far gt
SSCCGL19AUG-S3 : 59
(a) 45 (b) 50 (c) 40

(d) 35

(29) To cover a distance of 90 km in 2.5 hours what
should be the average speed of the car in
meters/second?

90 fohaT & I &l 2.5 € A T Xl & foIT Aeq/Aehs &

FR HT 3 a1fa Far gl arge?

SSCCGL20AUG-S1 : 59

(@) 10 (b) 20 (©) 30
(d) 40

(30) To cover a distance of 81 km in 1.5 hours what
should be the average speed of the car in
meters/second?

81 fohaly &1 gl &l 1.5 € 7 0 et & faw Aey/@dos

# R T 3T a1fa S g Al

SSCCGL21AUG-S1 : 59

(@) 10 (b) 5 (© 12
(d)9
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(31) Two cyclists P and Q cycle at 20 km/hr and 25
km/hr towards each other. What was the distance (in
kms) between them when they started if they met
after 56 minutes?

ar arsfoher amere P 3R Q 20 fhaitetex/aer 3R 25
fepeltefeR/eer 1 1 & Teh-g@ T % 3@ & | 3o
drer &1 g1 (feheit#iiex #) &3 o 3R d 56 TAeTe a1g
3o 7 fAed 87
SSCCGL21AUG-S2 : 59
(a) 36 (b) 39 () 42

(d) 45

(32) Aboat goes 15 km upstream and 1012 km
downstream in 3 hours 15 minutes. It goes 12 km
upstream and 14 km downstream in 3 hours. What is
the speed of the boat in still water?

Teh oA1d 3 €¢ 15 fAeTe # 15 foh.#lY. emr o wfciger aar
1012 o #T. 4TRT & 37efehel SITCH & | T€ 3 ©C # 12 fona.
T & Seeet 2T 14 5.3, &R 3 3eTel S & |
R ST A AT R Al Farg ?
SSCCGLO5AUG-S1: 59
() 10
(d) 14

(33) A man travelled a distance of 60 km in 7 hours.
He travelled partly on foot @ 6 km/hr and partly on
bicycle @ 12 km/hr. What is the distance (in kms)
travelled on foot?

Teh TIHI o 7 8¢ H 60 FhcilHIe hT gt &l AT o7 |
3T AT I12Ah F 6 fohcii#re / Ger dgaf Tees 3R
HifRIF € F 12 Fhelleiey / Her W Arfdehel Tefient T
| a7 &Y 378 eol g (Fheltedte ) faretstt 82
SSCCGLOGAUG-S1 : 59
(@) 15 (c) 48

(d) 24

(34) Excluding stoppages, the speed of a train is 120
kmph and including stoppages, it is 50 kmph. For how
many minutes does the train stop per hour?

Beho! dTel TATeAT I BISHT, el T 31 120 fhaliaex ufer
geT § 31K Teohet aTel TUTAT FA8d, T8 50 fheteeT i
HeT ¥ &7 Ul B¢ fahdet & fow st €2
SSCCGLO6AUG-S3 : 59
(a) 25 (b) 40 (c) 35

(d) 20

(35) A train travels 40% faster than a car. Both start
from point A at the same time and reach point B, 140
km away at the same time. On the way the train takes
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25 minutes for stopping at the stations. What is the
speed (in km/hr) of the train?
Teh YeATMSY Teh R F 40% IsT Telch &1 2l foig A & Toh
& FAET I IR Y § YT 140 o Y. oy e fig B
T T & HHAY TG & | A H Yeamsy TRt oX Febel
& forv 25 fiee @it &1 Yeremsr & arfa (r.#Y. 9fd ger
) FATE?
SSCCGLO8AUG-S1 : 59
(a) 67 (b) 1344 (c) 145.9

(d) 160

(36) A boat goes a certain distance at 40 km/hr and
comes back the same distance at 24 km/hr. What is
the average speed (in km/hr) for the total journey?

Teh Tq 40 o it / €eT 1 911y & Teh AT gl R SArelr &
31 24 T35 2y der 1 91 § 3¢ g o) araw Tl ¥ Fer
T & forw 3ivaa arfa (s Y. faer #H)yaar g2
SSCCGL23AUG-S3 : 59
(a) 32 (b) 28 (c) 34

(d) 30

(37) Two cars A and B travel from one city to another,
at speeds of 35 km/hr and 45 km/hr respectively. If car
B takes 2 hours lesser time than car A for the journey,
then the distance (in kms) between the two cities is?

ar AIRI A 31 B AT hH: 35 6.3, / ger 31T 45 A,
[61eT o 37T & Teh 2T W gAY e foh Arn el § | afes
FR B I T F T FR A H 2 € 3 THT J9Tar g, ar
ar erext & foer o g (e o, & ) foncer 8 2
SSCCGL20AUG-S2 : 59
(a) 345 (b) 375 (c) 415

(d) 315

(38) If a person walks at 12 km/hr instead of 10 km/hr,
he would have walked 1 km more in the same time.
What is the actual distance (in kms) travelled by him
at 10 km/hr in the same time?

3R Fis egiFa 0 [R5, / geT & o 12 fF.30)./ ger &y
I & TeIaT &, A1 98 38T AT A 1 fon A, 317k g
Fehell g1 3T GHY A 3Heh R 7% T 918 AR Taeh gl
10 fo. 3/ ger (k.. 7) Fr aifa & fra=ir &2

SSCCGL22AUG-S3 : 59
(a) 8 (b) 10 (©5
(d) 12

(39) To travel 720 km, a Express train takes 6 hours
more than Duronto. If however, the speed of the
Express train is doubled, it takes 2 hours less than
Duronto. The speed of Duronto (in km/hr) is?
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720 TR ST IATAT FXA o [T, Teh TFAIH o Sl
ST A 6 6 1T THT 91T § | 3R TFAIH gof T
1Tl 2N T &1 1 &, A Ig STVl A 2 6 ol Tl
ol &1 SRIer Y A1feT (TheitafeT /eier 7 ) forctet 87
SSCCGL23AUG-S1: 59
(a) 60 (b) 72 (c) 66

(d) 78

(40) If a taxi going at 40 km/hr takes 25 minutes to
travel a certain distance, by how much should it
increase its speed (in km/hr) to travel the same
distance

in 20 minutes?

T 40 frai/ee Y 1fa & = arel U Spal Y U
TR g & A &t & forw 25 fAete ST &, @ 20
BeTe 7 3T g0 T I et & Torw 3@ 31oeh a1y
(Rreltefte/eier &) fohcil gefer el arfge?
SSCCGL22AUG-S1 : 59
(a) 50 (b) 5 () 25

(d) 10

(41) A man travelled a distance of 50 km in 8 hours.
He travelled partly on foot at 5 km/hr and partly on
bicycle at 7 km/hr. What is the distance (in kms)
travelled on foot?
Teh HTGHT o 8 T # 50 o Y. T gt 77 hr| &g 3nifArh
w9 5 fon.#Y. / geT deer T 3R 3116 & & Arfsher
R 7 R Y. / ger i g & I fomar | Sea aa drag
& (.. #) Tt 82
SSCCGL23AUG-S2 : 59
(a) 20 (b) 25 (© 15

(d) 30

(42) A spaceship travels at 1,260 km/h. How many
metres does it travel in 1/10 th of a second?

Teh 3TdTeT I1eT 1,260 fndi/ae 6 g @ amEr sear 2
Jehg & 1/10 J 99T H g Tohdel HieT ITAT FHIm?

SSCCGL20AUG-S3 : 59
(a) 126 (b) 35 (c) 36
(d) 125

Free Study Material Join: Telegram.me/ExamsCart

Answer Key

1 ]A]2 [C[3 |B}4

6 |D|7 |D|8 [B|9

11|B|12(B[13|B|14

16|B|17|B[18]A|19

26[A[27|D|28|C|29

31|C|32|C|33|D(34

®[Oo[PO[>|O0[0C[0
AR AR

B

B

A
21|A[22|C|23(D[24

C

D

C

36(D(37|D|38|C|39

N0 |>P|W[(W|O
W(O[O|O[O|m|®m|O

41|C(42

Solution
(1

AMAN (delhi)

— » I 2.
X X
Aman takes 196 min to travel y distance and his speed
is 30 km/hr.

A KAPIL(gwalior)

"

Distance = speed
xtime
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Y=30x196/60=
98km
Now, we know that time taken by aman to cover x

distance is equal to the time taken by kapil to travel
y(98km).

Therefore, x/30=98/speed.

Distance traveled by kapil from point A to
delhi

((98x30)/%)(225/60)=x

By solving these eq. we get x=

105km

Hence to travel 105km kapil take 225 min therefore
his speed must be 28km/hr.

)
Let, Speed of Car = x

Speed of train = 6—:

. .180  180x5
From question; — —
x ox

_ 180 1
2

bx

& X = 60 km/h
Speed of train = 60 x g =72 kn|

4

In 1 hour the bus can travel 60 km without including
stoppages. To travel 1 km it took 1 min

In 1 hour the bus can travel 45 km including
stoppages difference=15kms

So, it stopped for 15 min in hour.

(5)
total distance
avg. speed =————
total fime
_ d+d
T 4a.d

-+
Z0 30

After solving
=24 km'h.

(6)
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. distance
time=——————
speed

_ (100+150)
(40+k)%—

18

K =60 km/h

()
distance= speed x time
sxt = s x7 x(t—15/60)
t= 7t/6 -7 x 1560
7/24=T7t/6-t=t/6
t=7/4 hr. = 105 min.

8
Let speed of Duranto = x km/h
Speed of express =y km/h
According to question;
432/y - 452/x =1
Also, 432/(3y/2) - 432/x = -2
864/3y - 432/x = -2 ---------- (2)
Solving eq (1) - eq (2)
432/3y =3
Hence, y = 48 kmph and x = 54 kmph

)

®
D

train A train B
10 AM 12 PM

speed = d/6 km/h speed = d/5 km/h

distance covered in 2 hours by A =2 x d/6 = d/3

rest distance = d - d/3 = 2d/3

time of meeting = distance/real speed
= (2d/3)/(d/6 + d/5)
=2d/3 x 30/11d = 20/11
=11
1 hours 49 minute

12 PM + 1 hours 49 minute

= 1:49 PM

(11
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Let slow speed = 6x Revolution=1237500/66=18750
And normal speed = 7x

Time difference will occur only in remaining 3/5 of dista (16)
Let total distance = D Let distance between two planted trees be x unit.

s

= T I + 12x distance is covered in 20 seconds

bx 7x 60 -~ 36x distance is covered in 60 seconds.

S R ~ Required time = 60 sec — 20 sec = 40 seconds.

ax Tx

12007760 e (17)
W . 1 hour = 3600 sec
X=5 1 Km = 1000m
Usual speed = ? x 7 km = 24 km/hr 810 Km = 810000m
' 3600 sec = 810000m
1 sec= 810000/3600 = 225m

12
(12) 1/5+ sec = 225 x 1/5 = 45m

Distance covered by A in 3 seconds = 30 x 3 = 90
metre.

This 90 m distance is covered by B in

»/0 = 4.5 second

~ A travelled = 90 + (4.5 x 30)

=90+ 135=225m

& B travelled = 4.5 x 50 = 225 m

~ Required total distance = 225 + 225 = 450 m

(19

Let distance =x

1= time speed=60kmph time = x/60
2w Time Speed = 30kmpg time =x/30
3« time speed =15kmph time =x/15
4w time speed = 7.5kmph time =2x/15
total time =x/60+x/30+x/15+2x/15
=15x/60=x/4

Total Distance = 4x

Time = x/4

Speed= 4x / (x/4) =16kmph

(13)

Distance covered in 6 hours after repairing
=54 x6

=324 km

Required time = =/,

= 6 hours 45 min.

(20)
Avg. speed = 144/3.2 x 5/18
=125m/s

21

Distance = 90 x 5/18 x 35 x 60 meters

= 52500 m

Speed required to cover this distance in 21 minutes
= 52500/21x60 x 18/5 km/hr

= 150 km/hr

~ Increase in speed = 150 — 90 = 60 km/hr

(14)

In first hour bus will cover 21 km
In second hour it will cover 24 km
In third hour it will cover 27 km
By formula Sum of AP

252 =n/2[2 x 21 + (n - 1)3]
504 = 42n + 3n%- 3n
3n2+39n-504 =0
n®+13n-168 =0
n*+21n-8n-168=0
nin+21)-8n+21)=0

n=38, -21

So, n = 8 hours

(22)

Let his distance travelled by foot be x km.
x/9 + (99 -x)/18 =9

=>2x+99-x=9x 18

=X =63

(23)

Speed without stoppage (s..)= 72 km/hr
Speed with stoppage (s.)= 60 km/hr
The bus stop per hour = S..-S./ Suhus

= 72-60/72 x 60 minutes

= 10 minutes

(15)

Distance Covered=3/4 x 16.5=12.375 km
=1237500 cm

Distance covered in one revolution=Diameter x nt
=21 x 22/7

=66 cm

(24)
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Let the time taken by him be 't'". Distance = 40 x 25/60 = 16.67 km

~ ATQ Required speed = 16.67/20 x 60 km/hr = 50 km/hr.
15xt-9xt=3 ~Required increase in speed = 50 — 40 = 10 km/hr.
=>t=%hr

~ Actual distance travelled = 9 x ¥2 = 4.5 kms

(25)

Up to 8:30 AM first runner would have run for = 2.5 x
8 =20 km

Time taken by second runner to overtake first runner

= 20/10-8

=10 hours

So, second runner will overtake first runner after 8 : 30
AM + 10 hour

=6:30PM

(26)
Relative speed of both trains
= (30 + 45) km/h
= (75 x 5/18) m/s
~ Time taken to cross each either
= (ﬂ) sec = 48 sec

Vi
2

(28)
Average speed for total journey = 2xy/(x+y)
= 2x30x60/90 = 40 km/h

(29)
901000

Speed = ———— = 10m/sec

2.5x60x60

(30)
Speed = 81/1.5 x5/18 = 15 m/sec

(31

Distance covered by (P + Q) in 1 hour = 20 + 25 = 45
km.

Distance covered by them in 56 minutes is the
distance between them.

So, Distance between P and Q = 45/60 x 56 = 42 km.

(38)

Let the time taken at both speed be t.
ATQ

12t - 10t = 1

t = 0.5 hour

Required distance = 10 x 0.5

=5km

(40)
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